O000000000000o00o00o0odod PDRO
Oo00o00o0ooooooonoon

https://www.100test.com/kao_ti2020/608/2021 2022 E5 85 A8
E5 9C B0 E9 9D A2 E6 c62 608616.htm 1 QYU1600 O O [
Jo0d0o00oodoodooouooooooouoooon
Jo00o0ooooooooooooooooooodgo
OJo00o00o0ooooooooooooooooooOoo
DoddooooQyuleo oo oooodood
Do000o000oooodoodn Qyvuleo 0o
Oo00o00o0oo0oooooooooooooooodgo
Oo00o00o0ooooooooooooooooodgo
Oo00o00o00ooooooooooooooooogo
Jododooododooooooooodooodo
Jodododooooooooooooooooodgo
DJo0o00ododoooooooooooOo 20000
Do00dz21000000Qyulec DO ooooooao
Oo000000o0oo0oooooooooooooOgo
OJo00o00o00ooooooooooooooooodgo
OO000000220000000000000 22100
O 000o0oooooooooooooono ooooon
Oo00o00o00ooooooooooooooooogo
Jodododododouooodooouoo oon
Jodododooooooooooooooooodgo
Oo0o0* 0o odouodz22200000 0000
OJo00o00o0ooooooooooooooooooOoo
Oo00o0o0ooooooooooooooooodgo



000000 Gx Vx (i-f)x 3600/778=Hradx Aradx (Trad (1)
OO00OArad——0OO0O0O00O00OOOm20I00000°
OHrad——0000000O00OOOOKcal/h(Fm2O O O O
JO0o0voOoUOOm/sOGUUOONO(TradD OO O OOOO
D000 FE0 ool oodooooooooa
Jododobooodoodooooooouoooooa
o0 ouououon3liodonon Qyuleod OO
J0o0dooooooodoooooooooooooa
Jodododododouodooododog 3.2
QYU1600 O O O O 16900mm0 O O O O O 72000kgl O OO [
JO000o00o0oo0oodooooooooooooon
JodEs oo ou4sodoouoooon
Joodobooo33tdodooonooooooogcan
OO0o00ood vkodAvkodVc=(P0—— 1) —— AKPO— —
—— () VkdfvkildiOOOpPOvOPOUVOOOOOOOOO
Jo0odoboooooooooooKkKooooov=Ax H
OHOOOOODAOOOOODODODAOOOOfOOOOO 00
J0odoboooooodoooooooooooooa
Jo0odoooboooo400000b00ono0o 41000
Jod4110000t0odooooidodououood
Jodododododouoooooooooon ™
0% 00000000 oouooooooe0 1
Jo0odoodunt=t1t12t13@)uidtll——o0odn
Ot11=12/csOR——0000000000000mOc——
Jodododm/fsOtl2——00000000O00O000O
OO0000000 t12=(V0Vs)(0.00711 0.02512),s 0 I [0 VO—



—0000000000000000000000000
Om30Vs—— DO 0O000000000000000m3
Ot3——0000000000000009%%00000,s
0 £13=0.042(11 12)(Vs VO V2) sOV2—— 0000000000
000000000m30000000000100000
0000000000000 00D020000000t2200
0000000000000 0000000000¢20 tv2
1t2=[ dt=[ dv,s(4)0V1j000OVI——0O00000m/s
OV2——000000ms0j——000000m/s20 4.1.2
0000sS000000000000000000000
13 V2tS=(t11t12)V1,[ [ jdvdtm (520000000000
4200000000000 000000000000102
030500000000000000010203050600
000000000506000000000000000
0000000000000D100000000000
0000000000000 0000000200000
00000000000000000000000000
00000000000000000000f000000
N0g000D000000000000000D0000000
00000000000 421000000000 QYUL60
00000000000000002000 4220000
00 QYUL00 000D D01020030400506000 00
0000000000000 0000007 000020
00000000000000000000000000
00000000000000000q0000000
423000000000000000000000000



Doofadoooodoodo fi=p ()x gix G/zi(6) U U O
Moo oooodi=1g20060zidiododN

OGUUOOOONO OO0O00 @b7101430 000000

O000000000000 Qyuleo O OO OO0 dnd

O0000o0o0o0o0 @70 0000 oooooodnd
O00d0ooooooonoooooooooonooogon
Oo000s50010000000000000000000
ODO00doooooooooooooooboonoooon
O00ooooooboonooooooo20b00o0o00n

OD000ooooooonoooooooooonooogon
O000oooooboooooooooooonoooon
JWooooooooooooooooobooooooond
O00dooooooooooooooooonooogn
O00000000000 40Qvyuleot 00 oooonn
O00d0ooooooonoooooooooonooogon
OO0000000O0O 100TestU O OOOOOOOOOOOO
OO00o000odd www.100test.com



